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COMPOUND INTEREST

1. Find the compound interest on Rs. 1000 for

two years at 4% per annum.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8Hp6fGxkEy8u

° Watch Video Solution

2. Maria invests Rs 93750 at 9.6 % per annum
for 3 years and the interest is compounded

annually. Calculate.

° Watch Video Solution

3. Find the compound interest on Rs 8000 for

1
15 years at 10% per annum, interest being

payable half-yearly.

| e |


https://dl.doubtnut.com/l/_8Hp6fGxkEy8u
https://dl.doubtnut.com/l/_9VPhKUc3eriE
https://dl.doubtnut.com/l/_82plg0UYNp5J

& Watch Video Solution I

4.Find the compound interest on Rs 10000 for
1 year at 20% per annum compounded

quarterly.

° Watch Video Solution

5. Find the compound interest when principal
= Rs 300, rate = 5% per annum and time = 2

years.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_82plg0UYNp5J
https://dl.doubtnut.com/l/_w1aQ4FBsPqjC
https://dl.doubtnut.com/l/_g0aJWoa7niAt

6. What will be the compound interest on Rs
4000 in two years when rate of interest is 5%

per annum?

° Watch Video Solution

7. Rohit deposited Rs 8000 with a finance
company for 3 years at an interest of 15% per
annum. What is the compound interest that

Rohit gets after 3 years?



https://dl.doubtnut.com/l/_g0aJWoa7niAt
https://dl.doubtnut.com/l/_EnOIqH2a2wVm
https://dl.doubtnut.com/l/_bGW8QJ9E6Y9n

Watch Video Solution

8. Find the compound interest on Rs 1000 at
the rate of 8% per annum for one and a half

years when interest is compound half-yearly.

o Watch Video Solution

9. Find the compound interest on Rs 160000
for one year at the rate of 20% per annum, if

the interest is compound quarterly.

| €8 |


https://dl.doubtnut.com/l/_bGW8QJ9E6Y9n
https://dl.doubtnut.com/l/_KGM3xQvBIWwm
https://dl.doubtnut.com/l/_GfbFO9ac1g0F

| ¥ Watch Video Solution J

10. Swati took a loan Rs 16000 against her
insurance policy at the rate of 12.5% per
annum. Calculate the total compound interest

payable by swati after 3 years.

° Watch Video Solution

11. Roma borrowed Rs 64000 from a bank for
0.5 years at the rate of 10% per annum.

Compute the total compound interest payable


https://dl.doubtnut.com/l/_GfbFO9ac1g0F
https://dl.doubtnut.com/l/_39gBAr1zg0Z9
https://dl.doubtnut.com/l/_zMhie0Qtk6Uc

by Roma after 0.5 years, if the interest is

compounded half-yearly.

° Watch Video Solution

12. Mawa Lal borrowed Rs 20000 from his
friend Rooplal at 18% per annum simple
interest . He lent it to Rampal at the same rate
but compounded annually. Find his gain after

2 years.

° Watch Video Solution



https://dl.doubtnut.com/l/_zMhie0Qtk6Uc
https://dl.doubtnut.com/l/_9RZa2IFp95fD
https://dl.doubtnut.com/l/_n1R9mDCbJh4n

13. Find the compound interest on Rs 8000 for
9 months at 20% per annum compounded

quarterly.

° Watch Video Solution

14. Find the compound interest at the rate of
10% per annum for two years on that principal
which in two years at the rate of 10% per

annum given Rs 200 as simple interest.

o Watch Video Solution



https://dl.doubtnut.com/l/_n1R9mDCbJh4n
https://dl.doubtnut.com/l/_bR5D8pLNPjhh

15. Find the compound interest on Rs 64000
for 1 year at the rate of 10% per annum

compounded quarterly.

o Watch Video Solution

16. Ramesh deposited Rs 7500 in a bank which
pays him 12% interest per annum
compounded quarterly. What is the amount

which he receives after 9 months?

° Watch Video Solution



https://dl.doubtnut.com/l/_AR7uvf5MZfI5
https://dl.doubtnut.com/l/_ZjEYa48w6lhD

17. Anil borrowed a sum of Rs 9600 to install a
handpump in his dairy. If the rate of interest
is 5.5% per annum compounded annually,
determine the compound interest which anil

will have to pay after 3 years.

o Watch Video Solution

18. Surabhi borrowed a sum of Rs 12000 form a
finance company to purchase a refrigerator. If

the rate of interest is 5% per annum


https://dl.doubtnut.com/l/_ZjEYa48w6lhD
https://dl.doubtnut.com/l/_MeBE0TWXSjzy
https://dl.doubtnut.com/l/_JBrlnzmNCHdU

compounded annually,  calculate  the
compound interest that Surabhi has to pay to

the company after 3 years.

° Watch Video Solution

19. Diljit received a sum of Rs 40000 as a loan
from a finance company. If the rate of interest
is 7% per annum compounded annually,
calculate the compound interest that Diljit

pays after 2 years.

° Watch Video Solution



https://dl.doubtnut.com/l/_JBrlnzmNCHdU
https://dl.doubtnut.com/l/_PlD7tIi1HEqF

20. Find the compound interest on Rs 12000
for 3 years at 10% per annum compounded

annually.

° Watch Video Solution

21. Abhay lent Rs 8000 to his friend for 3 years
at the rate of 5% per annum compound
interest. What amount does Abhay get after 3

years?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_PlD7tIi1HEqF
https://dl.doubtnut.com/l/_mEnsi7qFiq0u
https://dl.doubtnut.com/l/_fej17QXxzgvm

22. Vijay obtains a loan of Rs. 64000 against
his fixed deposits. If the rate of interest by 2.5
paise per rupee per annum, calculate the

compound interest payable after 3 years.

° Watch Video Solution

23. Find the compound interest at the rate of

10% per annum for four years on the principal


https://dl.doubtnut.com/l/_fej17QXxzgvm
https://dl.doubtnut.com/l/_3pgQoMq7Zof7
https://dl.doubtnut.com/l/_TVIXoE9jyybH

which in four years at the rate of 4% per

annum given Rs 1600 as simple interest.

° Watch Video Solution

24. Simple interest on a sum of money for 3
years at 10% per annum is Rs 2400. What will
be the compound interest on that sum at the

same rate for the same period?

o Watch Video Solution



https://dl.doubtnut.com/l/_TVIXoE9jyybH
https://dl.doubtnut.com/l/_ccWNzihf0EnG

25. Compute the compounded interest on Rs
12000 for 2 years at 20% per annum when

compounded half-yearly.

o Watch Video Solution

26. Find the compound interest on Rs 1000 at
the rate of 10% per annum for 18 months

when interest is compounded half-yearly.

o Watch Video Solution



https://dl.doubtnut.com/l/_cjEh54ChhMEp
https://dl.doubtnut.com/l/_v6Vz92WqepTc
https://dl.doubtnut.com/l/_mOzESa9LrHG6

27. How much would a sum of Rs 16000
amount to is 2 years time at 10% per annum
compound interest, interest being payable

half-yearly?

° Watch Video Solution

28. Find the compound interest on Rs 320000
for one year at the rate of 20% per annum, if

the interest is compounded quarterly.

° Watch Video Solution



https://dl.doubtnut.com/l/_mOzESa9LrHG6
https://dl.doubtnut.com/l/_McA5VLNE3tNf

29. Ramesh deposited Rs 7500 in a bank which
pays him 12% interest per annum
compounded quarterly. What is the amount

which he receives after 9 months?

o Watch Video Solution

30. Shyam deposited in a bank Rs 7500 for 6
months at the rate of 8% interest
compounded quarterly. Find the amount he

received after 6 months.

| & I


https://dl.doubtnut.com/l/_LrOiAYtfRIwG
https://dl.doubtnut.com/l/_ybrOA8quQSt9

| ¥ Watch Video Solution |

31. Ram Singh busy a refrigerator for Rs 4000
on credit. The rate of interest for the first year
is 5% and of the second year is 15%. How much
will it cost him if he pays the amount after two

years?

o Watch Video Solution

32. Find the compound interest on Rs 24000

at 15% per annum for 2 1/3 years.


https://dl.doubtnut.com/l/_ybrOA8quQSt9
https://dl.doubtnut.com/l/_mBaX1V7D7Ks4
https://dl.doubtnut.com/l/_kjCyZxLChpqk

O Watch Video Solution

33. Compute the amount and the compound
interest in each of the following by using the
formulas when: (a)Principal = Rs 3000, Rate =
5%, time = 2 years . (b)Principal = Rs 3000, rate
= 18%, time = 2 years . (c)Principal = Rs 5000,
rate = 10 %, time - 2 years (d)Principal = Rs
2000, rate = 4%, time = 3 years (e)Principal = Rs
10000, rate 20% per annum compounded half-

yearly, time = 2 years (f)Principal = Rs 160000,


https://dl.doubtnut.com/l/_kjCyZxLChpqk
https://dl.doubtnut.com/l/_eZt9XY7jLG2Z

rate = 10 paise per rupee per annum

compounded half-yearly, time = 2 years.

° Watch Video Solution

34. Find the amount of Rs 2400 after 3 years,
when the interest is compounded annually at

the rate of 20% per annum.

° Watch Video Solution



https://dl.doubtnut.com/l/_eZt9XY7jLG2Z
https://dl.doubtnut.com/l/_1NPEuZeIF7BN

35. Rahman lent Rs 16000 to Rasheed at the
rate of 12% per annum compound interest.
Find the amount payable by Rasheed to

Rahman after 3 years.

o Watch Video Solution

36. Meera borrowed a sum of Rs 1000 from
Sita for two years. If the rate of interest is 10%
compounded annually, find the amount that

Meera has to pay back

| & I


https://dl.doubtnut.com/l/_tIDrdpNrhGp4
https://dl.doubtnut.com/l/_W47RpgihmjXC

| ¥ Watch Video Solution |

37.Find the difference between the compound
interest and simple interest. On a sum of Rs.

50,000 at 10% per annum for 2 years.

o Watch Video Solution

38. Amit borrowed Rs 16000 at 15/2% simple
interest .On the same day, he lent it to ashu at
the same rate but compounded annually.

What does he gain at the end of 2 years?


https://dl.doubtnut.com/l/_W47RpgihmjXC
https://dl.doubtnut.com/l/_vlGzaByzvilS
https://dl.doubtnut.com/l/_pZzbSB8Q0w7Z

° Watch Video Solution

39. Find the amount and the compound
interest on Rs 4096 for if he gave it for 18
months at 25/2 % per annum, the interest

being compounded semi-annually.

o Watch Video Solution

40. Find the amount and the compound

interest on Rs 8000 for vyears at 10% per


https://dl.doubtnut.com/l/_pZzbSB8Q0w7Z
https://dl.doubtnut.com/l/_wVOL7ia5ZKhf
https://dl.doubtnut.com/l/_ARsDl2ac8Zbj

annum, compounded half-yearly.

o Watch Video Solution

41. Kamal borrowed Rs 57600 from LIC against
her policy at 12% % per annum to build a
house. Find the amount that she pays to the
LIC after 1l years if the interest is calculated

2
half-yearly.

o Watch Video Solution



https://dl.doubtnut.com/l/_ARsDl2ac8Zbj
https://dl.doubtnut.com/l/_tLbI3DdSMdKm

42. Abha purchased a house from Avas
Parishad on credit. If the cost of the house is
Rs 64000 and the rate of interest is 5% per
annum compounded half-yearly, find the

interest paid by Abha after one year and a half.

o Watch Video Solution

43. Rakesh lent out Rs 10000 for 2 years at

20% per annum, compounded annually. How


https://dl.doubtnut.com/l/_FJ8oI7UUFtIS
https://dl.doubtnut.com/l/_js0ATu1whJqS

much more he could earn if the interest be

compounded half-yearly?

° Watch Video Solution

44. Romesh borrowed a sum of Rs 245760 at
12. 5% per annum, compounded annually. On
the same day, he lent out his money to Ramu
at the same rate of interest, but compounded

semi-annually. Find his gain after 2 years.

° Watch Video Solution



https://dl.doubtnut.com/l/_js0ATu1whJqS
https://dl.doubtnut.com/l/_9LjbGGxvUqwW
https://dl.doubtnut.com/l/_ClSOfxn1FDf7

45, Find the amount that David would receive
if he invests Rs 8192 for 18 months at 12.5%
per annum, the interest being compounded

half-yearly.

o Watch Video Solution

46. Find the compound interest on Rs 15625
for 9 months, at 16% per annum, compounded

quarterly.

o Watch Video Solution



https://dl.doubtnut.com/l/_ClSOfxn1FDf7
https://dl.doubtnut.com/l/_h4YtySfUjsDp

47.Rekha deposited Rs 16000 in a foreign bank
which pays interest at the rate of 20% per
annum compounded quarterly, find the

interest received by Rekha after one year.

o Watch Video Solution

48. Find the amount of Rs 12500 for 2 years
compound annually, the rate of interest being
15% for the first year and 16% for the second

year.

| & |


https://dl.doubtnut.com/l/_dJlfvCvCdFyh
https://dl.doubtnut.com/l/_GbWsHRXbhZF6

| ¥ Watch Video Solution |

49. Ramu borrowed Rs 15625 from a finance
company to buy a scooter. If the rate of
interest be 16% per annum compounded
annually, what payment will he have to make

after 2Z years?

o Watch Video Solution

50. What will Rs 125000 amount to at the rate

of 6%, if the interest is calculated after every


https://dl.doubtnut.com/l/_GbWsHRXbhZF6
https://dl.doubtnut.com/l/_x1NmIt2UVYbd
https://dl.doubtnut.com/l/_U7bVy3d8g2N9

four months?

o Watch Video Solution

51. Find the compound interest at the rate of
5% for three years on that principal which in
three years at the rate of 5% per annum given

Rs 12000 as simple interest.

° Watch Video Solution



https://dl.doubtnut.com/l/_U7bVy3d8g2N9
https://dl.doubtnut.com/l/_UEK92JqMjKcX

52. A sum of money was lent for 2 years at 20%
compounded annually. If the interest s
payable half-yearly instead of yearly, then

interest is Rs 482 more. Find the sum.

o Watch Video Solution

53. Simple interest on a sum of money for 2
years at 6.5% per annum is Rs 5200. What will
be the compound interest on the sum at the

same rate for the same period?

| & I


https://dl.doubtnut.com/l/_Blql1o50GfN2
https://dl.doubtnut.com/l/_F9xZgOmWFxSP

| ¥ Watch Video Solution |

54. Find the compound interest at the rate of
5% per annum for 3 years on that principal
which in 3 years at the rate of 5% per annum

given Rs 1200 as simple interest.

o Watch Video Solution

55. Find the principal, if the compound
interest compound annually at the rate of 10%

per annum for three years is Rs 331.


https://dl.doubtnut.com/l/_F9xZgOmWFxSP
https://dl.doubtnut.com/l/_nOl3bcqjiEIt
https://dl.doubtnut.com/l/_vus6hGGYgNQu

° Watch Video Solution

56. What sum will become Rs 9826 in 18
months if the rate of interest is 5/2 % per
annum and the interest is compounded half-

yearly?

o Watch Video Solution

57. The difference between the compound

interest and simple interest on a certain sum


https://dl.doubtnut.com/l/_vus6hGGYgNQu
https://dl.doubtnut.com/l/_JTOxCQ2wRQVp
https://dl.doubtnut.com/l/_1DJ1UrMES1Hl

of money at 10% per annum for 2 years is Rs
500. Find the sum when the interest is

compounded annually.

o Watch Video Solution

58. In what time will Rs 800 amount to Rs 882

at 5 % per annum compounded annually ?

° Watch Video Solution



https://dl.doubtnut.com/l/_1DJ1UrMES1Hl
https://dl.doubtnut.com/l/_cnobYbMG2wf0

59. In what time will Rs 64000 amount to Rs
68921 at 5% per annum, interest being

compounded half-yearly?

o Watch Video Solution

60. At what rate percent per annum
compound interest will Rs 10000 amount to Rs

13310 in three years ?

o Watch Video Solution



https://dl.doubtnut.com/l/_yr7GF4H2EcrY
https://dl.doubtnut.com/l/_oDiIHB9zn214
https://dl.doubtnut.com/l/_Ts8gmPNf3Cm4

61. Reena borrowed from Kamal certain sum
for two years at simple interest. Reena lent
this sum to Hamid at the same rate for two
years compound interest. At the end of two
years she received Rs 110 as compound
interest but paid Rs 100 as simple interest.

Find the sum and rate of interest.

° Watch Video Solution

62. On what sum will the compound interest at

5% per annum for 2 years compounded


https://dl.doubtnut.com/l/_Ts8gmPNf3Cm4
https://dl.doubtnut.com/l/_5rFnwdrq9Lby

annually be Rs 1647

o Watch Video Solution

63. Find the principal if the interest
compounded annually at the rate of 10% for

two years is Rs 210.

o Watch Video Solution

64. A sum amounts to Rs 756.25 at 10% per

annum in 2 years, compounded annually. Find


https://dl.doubtnut.com/l/_5rFnwdrq9Lby
https://dl.doubtnut.com/l/_BPYG1Xfp30OZ
https://dl.doubtnut.com/l/_4Uq9iHOyqQ7Y

the sum.

o Watch Video Solution

65. What sum will amount to Rs 4913 in 18

months, if the rate of interest is 125 % per

annum, compounded half-yearly?

o Watch Video Solution

66. The difference between the compound

interest and simple interest on a certain sum


https://dl.doubtnut.com/l/_4Uq9iHOyqQ7Y
https://dl.doubtnut.com/l/_gBGlkdjOAawd
https://dl.doubtnut.com/l/_LUQS6vd8UBHC

at 15% per annum for 3 years is Rs 283.50. Find

the sum.

° Watch Video Solution

67. Rachana borrowed a certain sum at the
rate of 15% per annum. If she paid at the end
of two years Rs 1290 as interest compounded

annually, find the sum she borrowed.

o Watch Video Solution



https://dl.doubtnut.com/l/_LUQS6vd8UBHC
https://dl.doubtnut.com/l/_4MPRvxB9Bke0

68. The interest on a sum of Rs 2000 is being
compounded annually at the rate of 4% per
annum. Find the period for which the

compound interest is Rs 163.20.

° Watch Video Solution

69. In how much time would Rs 5000 amount
to Rs 6655 at 10% per annum compound

interest?

° Watch Video Solution



https://dl.doubtnut.com/l/_xqGycYTZzKdB
https://dl.doubtnut.com/l/_q1zseYWx51yC

70. In what time will Rs 4400 become Rs 4576
at 8% per annum interest compounded half-

yearly?

° Watch Video Solution

71. The difference between the S.I. and C.I. on a
certain sum of money for 2 years at 4% per

annum is Rs 20. Find the sum.

° Watch Video Solution



https://dl.doubtnut.com/l/_q1zseYWx51yC
https://dl.doubtnut.com/l/_bdgVlWAngTMH
https://dl.doubtnut.com/l/_78oDYuxO4Lnl

72.In what time will Rs 1000 amount to Rs 1331

at 10% per annum, compounded annually?

° Watch Video Solution

73. At what rate percent compound interest
per annum will Rs 640 amount to Rs 774.40 in

2 years?

° Watch Video Solution



https://dl.doubtnut.com/l/_6JFC6n8fOJyB
https://dl.doubtnut.com/l/_92OuJHmh2chN

74.Find the rate percent per annum if Rs 2000
amount to Rs 2662 in 1.5 years, interest being

compounded half-yearly?

o Watch Video Solution

75. Kamala borrowed from rattan a certain
sum at a certain rate for two years simple
interest. She lent this sum at the same rate to
Hari for two years compound interest. At the

end of two years she received Rs 210 as


https://dl.doubtnut.com/l/_zVmQ8jbvgYN9
https://dl.doubtnut.com/l/_oa1ZHruvo5x6

compound interest, but paid Rs 200 only as
simple interest. Find the sum and the rate of

interest.

o Watch Video Solution

76. Find the rate percent per annum, if Rs 2000
amount to Rs 2315.25 in an year and a half,

interest being compounded six monthly.

o Watch Video Solution



https://dl.doubtnut.com/l/_oa1ZHruvo5x6
https://dl.doubtnut.com/l/_7QwXzudftI5N

77.Find the rate at which a sum of money will
double itself in 3 years, if the interest is

compounded annually.

o Watch Video Solution

78.Find the rate at which a sum of money will
become four times the original amount in 2
years, if the interest is compounded half-

yearly.

° Watch Video Solution



https://dl.doubtnut.com/l/_fNeLbQ1UPoHw
https://dl.doubtnut.com/l/_Y9C6RuZVsAor

79. A certain sum amounts to Rs 5832 in 2
years at 8% compounded interest. Find the

sum.

° Watch Video Solution

80. The difference between the compound
interest and simple interest on a certain sum
for 2 years at 7.5% per annum is Rs 360. Find

the sum.

o Watch Video Solution



https://dl.doubtnut.com/l/_Y9C6RuZVsAor
https://dl.doubtnut.com/l/_TtywvvQ1TjC5
https://dl.doubtnut.com/l/_NKZbZO4T4gJb

81. The difference in simple interest and
compound interest on a certain sum of money
at 6= % per annum for 3 years is Rs 46.

3

Determine the sum.

o Watch Video Solution

82. Ishita invested a sum of Rs 12000 at 5% per

annum compound interest. She received an


https://dl.doubtnut.com/l/_NKZbZO4T4gJb
https://dl.doubtnut.com/l/_8gee37cx5HcC
https://dl.doubtnut.com/l/_X297lBmMniqG

amount of Rs 13230 after n years. Find the

value of n.

° Watch Video Solution

83. At what rate percent per annum will a sum
of Rs 4000 yield compound interest of Rs 410

in 2 years?

° Watch Video Solution



https://dl.doubtnut.com/l/_X297lBmMniqG
https://dl.doubtnut.com/l/_IPH2CYwkbUVk

84. A sum of money deposited at 2% per
annum compounded annually become Rs
10404 at the end of 2 years. Find the sum

deposited.

° Watch Video Solution

85. In how much time will a sum of Rs 1600
amount to Rs 185220 at 5% per annum

compound interest?

° Watch Video Solution



https://dl.doubtnut.com/l/_pfnTGaeV5YLR
https://dl.doubtnut.com/l/_DGPu5gHw55YT

86. At what rate percent will a sum of Rs 1000
amount to Rs 1102.50 in 2 years at compound

interest?

° Watch Video Solution

87. The compound interest on Rs 1800 at 10%
per annum for a certain period of time is Rs

378. Find the time in years.

° Watch Video Solution



https://dl.doubtnut.com/l/_DGPu5gHw55YT
https://dl.doubtnut.com/l/_8Yvegmnik2sI
https://dl.doubtnut.com/l/_AkqAgQemmr9c

88. What sum of money will amount to Rs
3 .
45582.25 at GZ % per annum in two years,

interest being compounded annually?

o Watch Video Solution

89. Sum of money amounts to Rs 453690 in 2
years at 6.5% per annum compounded

annually. Find the sum.

o Watch Video Solution



https://dl.doubtnut.com/l/_EpK2NP5lrCJc
https://dl.doubtnut.com/l/_8pj4Fm3VRQDJ
https://dl.doubtnut.com/l/_yE30Q19fNlnM

90. The population of a town is increasing at
the rate of 5% per annum. What will be the
population of the town on this basis after two

years, if the present population is 160007

o Watch Video Solution

91. The population of a village is 20000. If the
annual birth rate is 4% and the annual death
rate 2%, calculate the population after two

years.

o Watch Video Solution



https://dl.doubtnut.com/l/_yE30Q19fNlnM
https://dl.doubtnut.com/l/_OiVzxnRH39PL

92. The population of a town was 160000 three
years ago. If it had increased by 3%, 2.5% and
5% in the last three years, find the present

population of the town.

o Watch Video Solution

93. The present population of a city is 9261000.
If it had been increasing at the rate of 5% per

annum, find its population 3 years ago.

| = 1


https://dl.doubtnut.com/l/_OiVzxnRH39PL
https://dl.doubtnut.com/l/_662ccX9fbAFH
https://dl.doubtnut.com/l/_q7LuA4HAeFse

I &9 Watch Video Solution I

94. In a factory the production of scooters
rose to 48400 from 40000 in 2 years. Find the

rate of growth per annum.

o Watch Video Solution

95. The bacteria in a culture grows by 10% in
the first hour, decreases by 10% in the second
hour and again increases by 10% in the third

hour. If the original count of the bacteria in a


https://dl.doubtnut.com/l/_q7LuA4HAeFse
https://dl.doubtnut.com/l/_ca7GlBzqZ9Q2
https://dl.doubtnut.com/l/_5KLtFoCB9jQC

sample is 10000, find the bacteria count at the

end of 3 hours.

° Watch Video Solution

96. Ashish opened a bookshop with an initial
investment of Rs 32000. In the first year, he
incurred a loss of 5%. However, during the
second year, he earned a profit of 10% which in
the third year rose to Calculate his net profit

for the entire period of three years.

° Watch Video Solution



https://dl.doubtnut.com/l/_5KLtFoCB9jQC
https://dl.doubtnut.com/l/_1JwKXSsz5Rip

97.10000 workers were employed to construct
a river bridge In four years. At the end of first
year, 10% workers were retrenched. At the end
of the second year, 5% of the workers at that
time were retrenched. However to complete
the project in time, the number of workers was
increased by 10% at the end of the third year.
How many workers were working during the

fourth year?

o Watch Video Solution



https://dl.doubtnut.com/l/_1JwKXSsz5Rip
https://dl.doubtnut.com/l/_W3FCwDQxIpT8
https://dl.doubtnut.com/l/_3qH4Z7TEgBhd

98. 24000 blood donors were registered with a
charitable hospital. The number of donors
increased at the rate of 5% every six month.
Find the time period at the end of which the

total number of blood donors becomes 27783.

o Watch Video Solution

99. A factory increased its production of three
wheelers from 80000 in 1999 to 92610 in 2002.
Find the annual rate of growth of production

of three wheelers.


https://dl.doubtnut.com/l/_3qH4Z7TEgBhd
https://dl.doubtnut.com/l/_TiQDQ8ztP1MY

o Watch Video Solution

100. Given that carbon-14 decays at a constant
rate in such a way that it reduces to 50% in
5568 years, find the age of an old wooden
piece in which the carbon is only 12.5% of the
original. 15836 years b. 16668 years c.

16704 years d. 17552 years

o Watch Video Solution



https://dl.doubtnut.com/l/_TiQDQ8ztP1MY
https://dl.doubtnut.com/l/_SVzhLJD1G0OF

101. The present population of a town is
28000. If it increases at the rate of 5% per
annum, what will be its population after 2

years?

o Watch Video Solution

102. The population of a city is 125000. If the
annual birth rate and death rate are 5.5% and
3.5% respectively, calculation the population

of city after 3 year.

| & I


https://dl.doubtnut.com/l/_ZWNcJV53dAHW
https://dl.doubtnut.com/l/_qLEijk8mbk7l

| ¥ Watch Video Solution |

103. The present population of a town is
25000. It grows at 4%, 5% and 8% during first
year, second year and third year respectively.

Find its population after 3 years.

o Watch Video Solution

104. Three years ago, the population of a town

was 50000. If the annual increase during three


https://dl.doubtnut.com/l/_qLEijk8mbk7l
https://dl.doubtnut.com/l/_qdVWBPiT4r8N
https://dl.doubtnut.com/l/_v16z5qYJ1jfC

successive years be at the rate of 4% , 5% and

3 % respectively, find the present population.

o Watch Video Solution

105. There is a continuous growth in
population of a village at the rate of 5% per
annum. If its present population is 9261, what

it was 3 years ago?

o Watch Video Solution



https://dl.doubtnut.com/l/_v16z5qYJ1jfC
https://dl.doubtnut.com/l/_7l1BxBDUrvvD

106. In a factory the production of scooters
rose to 46305 from 40000 in 3 years. Find the
annual rate of growth of the production of

scoters.

o Watch Video Solution

107. The annual rate of growth in population
of a certain city is 8%. If its present population
is 196,830, what was the population three

years ago?

| & I


https://dl.doubtnut.com/l/_4kl2c33MtQ7K
https://dl.doubtnut.com/l/_zl71qGE4fWNT

| ¥ Watch Video Solution |

108. The population of a town increases at the
rate of 50 per thousand. Its population after 2
years will be 22050. Find its present

population.

o Watch Video Solution

109. The count of bacteria in a culture grows
by 10% in the first hour, decreases by 8% in

the second hour and again increases by 12% in


https://dl.doubtnut.com/l/_zl71qGE4fWNT
https://dl.doubtnut.com/l/_XZ5sFrXDxtrI
https://dl.doubtnut.com/l/_Z27tdgYWrVMF

the third hour. If the count of bacteria in the
sample is 13125000, what will be the count of

bacteria after 3 hours?

o Watch Video Solution

110. The population of a certain city was 72000
on the last day of the year 1998. During next
year it increased by 7% but due to an epidemic
it decreased by 10% in the following year.
What was its population at the end of the year

2000?

| e |


https://dl.doubtnut.com/l/_Z27tdgYWrVMF
https://dl.doubtnut.com/l/_EhrCwGOD6xpW

| L ® Watch Video Solution

111. 6400 workers were employed to construct
a factory in 4 years. A the end of the first year,
25% workers were retrenched. At the end of
the second year, 25% of those working at that
time were again retrenched. However, to
complete the project in time, the number of
workers was increased by 25% of the total
number of workers left at the end of third
year. How many workers were working during

the fourth year ?



https://dl.doubtnut.com/l/_EhrCwGOD6xpW
https://dl.doubtnut.com/l/_QiD1gpf9Iy8F

Watch Video Solution

12. Aman started a factory with an initial
investment of Rs 100000. In the first year, he
incurred a loss of 5%. However, during the
second year, he earned a profit of 10% which in
the third year rose to 12%. Calculate his net

profit for the entire period of three years.

° Watch Video Solution



https://dl.doubtnut.com/l/_QiD1gpf9Iy8F
https://dl.doubtnut.com/l/_4b36FXzRTzLF

113. The population of a town increases at the
rate of 40 per thousand annually. If the
present population be 175760, what was the

population three years ago.

o Watch Video Solution

114. The production of a mixi company in 1996
was 8000 mixies. Due to increase in demand it
increases its production by 15% in the next

two years and after two years its demand


https://dl.doubtnut.com/l/_szzzRLzz9JeE
https://dl.doubtnut.com/l/_q0ljLg9ZGYB5

decreases by 5%. What will be its production

after 3 years ?

° Watch Video Solution

115. The population of a city increases each
year by 4% of what it had been at the
beginning of each year. If the population in
1999 had been 6760000, find the population of

the city in (i) 2001 (ii) 1997.

° Watch Video Solution



https://dl.doubtnut.com/l/_q0ljLg9ZGYB5
https://dl.doubtnut.com/l/_TUaQDvuvMIxE
https://dl.doubtnut.com/l/_qS249YERPMuN

116. Jitendra set up a factory by investing Rs
2500000. During the first two successive years
his profits were 5% and 10% respectively. If
each year the profit was on previous year's

capital, compute his total profit.

o Watch Video Solution

117. The value of a residential flat constructed
at a cost of Rs 100000 is depreciating at the
rate of 10% per annum. What will be its value 3

years after construction?


https://dl.doubtnut.com/l/_qS249YERPMuN
https://dl.doubtnut.com/l/_TW5Hh0tgaeb3

° Watch Video Solution

18. A new car costs Rs 360000. Its price
depreciates at the rate of 10% a year during
the first two years and at the rate of 20% a
year thereafter. What will be the price of the

car after 3 years?

° Watch Video Solution



https://dl.doubtnut.com/l/_TW5Hh0tgaeb3
https://dl.doubtnut.com/l/_T5MIswsW392l

119. The present price of car is Rs.7290/-. If its
value decreased every year by 10 %, then its

value three years back was

o Watch Video Solution

120. The value of a flat worth Rs. 500000 is
depreciating, at the rate of 10% p.a. In how
many years will it' value be reduced to Rs.
3645007 3 years b. 4years c. byears d.

6 years

| & I


https://dl.doubtnut.com/l/_asWdFlQDzSjL
https://dl.doubtnut.com/l/_KRMdKoxS0lWe

| ¥ Watch Video Solution |

121. The value of a property increases every
year at the rate of 5%. If its value at the end of
3 years be Rs 411540, what was its original

value at the beginning of these years?

o Watch Video Solution

122. Afridi purchased an old scooter for Rs

16000. If the cost of scooter after 2 years


https://dl.doubtnut.com/l/_KRMdKoxS0lWe
https://dl.doubtnut.com/l/_iLDOz608w1Fq
https://dl.doubtnut.com/l/_WETHygsoGNdt

depreciates to Rs 14440, find the rate of

depreciation.

° Watch Video Solution

123. Ms. Cherian purchased a boat for Rs
16000. If the total cost of the boat is
depreciating at the rate of 5% per annum,

calculate its value after 2 years.

o Watch Video Solution



https://dl.doubtnut.com/l/_WETHygsoGNdt
https://dl.doubtnut.com/l/_9dSzZwDVKEI3

124. The value of a machine depreciates at the
rate of 10% per annum. What will be its value 2
years hence, if the present value is Rs 1000007
Also, find the total depreciation during this

period.

o Watch Video Solution

125. Pritam bought a plot of land for Rs

640000. Its value is increasing by 5% of its


https://dl.doubtnut.com/l/_n6PYvwCm6qzS
https://dl.doubtnut.com/l/_1dLyx0qBFhNm

previous value after every six month. What will

be the value of the plot after 2 years?

° Watch Video Solution

126. Mohan purchased a house for Rs 30000
and its value is depreciating at the rate of 25%
per year. Find the value of the house after 3

years.

o Watch Video Solution



https://dl.doubtnut.com/l/_1dLyx0qBFhNm
https://dl.doubtnut.com/l/_yUIAqDw2rZzz

127. The value of a machine depreciates at the
rate of 10% per annum. It was purchased 3
years ago. If its present value is Rs 43740, find

its purchased price.

o Watch Video Solution

128. The value of a refrigerator which was
purchased 2 years ago, depreciates at 12% per
annum. If its present value is Rs 9680, for how

much was it purchased?

| & I


https://dl.doubtnut.com/l/_dzZJiGhMOHNg
https://dl.doubtnut.com/l/_LB8QtryAB6md

| ¥ Watch Video Solution |

129. The cost of a T.V. set was quoted Rs 17000
at the beginning of 1999. In the beginning of
2000 the price was hiked by 5%. Because of
decrease in demand the cost was reduced by
4% in the beginning of 2001. What was the

cost of the T.V. set in 2001?

o Watch Video Solution



https://dl.doubtnut.com/l/_LB8QtryAB6md
https://dl.doubtnut.com/l/_7P7XWohrbOV8

130. Ashish started a business with an initial
investment of Rs. 500000. In the first year, he
incurred a loss of 4%. However, during the
second year, he earned a profit of 5% which in
the third year rose to 10%. Calculate his net
profit for the entire period of three years. a)
Rs.48800 b. Rs.54400 c. Rs.55000 d. none of

these

o Watch Video Solution



https://dl.doubtnut.com/l/_PZ8alleeRWpJ

